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INSTRUCTIONS

Each question is printed both in Hindi and in
English.

Answers must be written in the medium
specified in the Admission Certificate issued
10 you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium
other than that specified in the Admission
Certificate.

Candidates should attempt all questions
strictly in accordance with the instructions
given under each question.

The number of marks carried by each
question is indicated at the end of the
question. .
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12. Write brief notes on all the five (in about 20 words
each) below : 3x2=10

(a)
(b)
(c)
(d)
(e)

13. (a)

__ 3 Manufactured goods; 161161
| 4 | Fuels and lubr 10411

Copyright and Trade-mark

TIFAC

Aspartame

Gene doping

Sappan

The principal exports of India for the financial

year 2001-2002 are given in the following
table :

Sl. No. Category Export
(Rs. Crores)
] - |
1 Agriculture and 29312
allied products

2 Ores and minerals l 4736

AP

els and lubricants







14. (a) A company ﬁles its sales vouchers according

(b)

to their sales value so that they fall in four
strata. Two hundred vouchers are received on
a business day. The information is listed in the
following table :

: !

Stratum Number of | Mean value
vouchers (Rs.)

Above 50 1800
Rs. 1000 '
Rs. 800 but 60 890
under
Rs. 1000 _
Rs. 400 but 50 560
under Rs. 800

v .
Less than 40 180
Rs. 400

Calculate the mean value and the total value of
the vouchers received by the company on the
day in question. Use the histogram to estimate

- the modal value of the vouchers. 6

A trip to a dcsunalion is made in the following

. way:

V425 kmsihe

900 kms by train at an average speed of
60 kms/hr

3000 kms by plane at an average s of
500 kms/hr ﬂ i

400kmsbyboata¢muaagcspeedof



15. (a) A hotel owner has nine refreshment stalls

(b)

(©)

located at various points in a large compound.
He wants to make one of the stalls as a supply
place such that amount of travel between the
stalls and the source of supply is minimized.
He has to visit all stalls almost equal number
of times with a view to supplying the
refreshment stuff everyday. The distances of
stalls from the first stall are 250, 500, 650,
800, 850, 910, 940 and 1000 yards respec-
tively. Which stall should he choose to use as
the supply place ? Give reason in favour of
your answer. 2

In a statistical investigation of 1003 families of
a city, it was found that 63 families had neither
a radio nor a TV, 794 families had a radio and
187 had a TV. How many families of the city
selected in the sample had both ? 2

The mean monthly income of a person is
Rs. 18190/- and his mean monthly expenditure
comes out to be Rs.17930/~. What is his

~ average monthly saving ? .
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